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CBSE Class 12 Biology Compartment Question Paper 2019 (July 2, Set 2- 57/1/2)
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Candidates must write the Code on the
title page of the answer-book.

$HIIT = H A Toh 39 IH-99 | Higd I8 11 2 |

Y99 H I 819 hl AR TG 7T Shig TreR I S IW-YEdhl o J@-I8 W 1@ |
$HI1 A= B A foh 3 IHIT H 27 9% 2 |

HUIT T T ST TAEAT I[E i A g, I 1 shTeh Aa9T 1@ |

39 YT hI UGH o ToIT 15 e &1 98 fGa1 71 8 | 9eH-97 o1 foaeor garg o
10.15 S5 fhIT STWT | 10.15 a1 ¥ 10.30 I @k S hddd Y- I Uil 3T

39 A4 = G d 3a-Jf&iehl UL shig ST &l To1a |
Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written onthe title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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i)  ¥97-97 § 91 @USI § FT 27 97 170 € F | @At yu7 37fHart &

i) @IS HH YT GEIT1 T 5 3id TG-FRIT F97 &, I9% J97 1 3P HT & |

(iii) @S T H J97 G&I1 6 & 12 TY-FIT 97 JHR 1 & &, Jdb J97 2 37l B1
& !

(iv) @S T T J97 G&I7 183 @ 24 TH-FIT 397 IR 11 & &, 9% J97 8 b1
H 8 |

(v) @UE FTH Y3 GEIT25 & 27 TH-FT0T 97 &, YIF J97 5 b HT & |

(vi) IIT-97 H GHT T FI3 fakcq 787 &, o7 41 1 37 Fret @ 3941 H, 2 371 drct
gl Jvl H, 8 37h] gici TR ¥l H 3N 5 bl ard @t a4 vl 7 diadd
Fg-fashey 17T 78 & | g% gienef %1 08 Yol & @ fA%eql 4 @ I vk
YT &7 HAT & |

(vii) STIVIHAFAR, 7 HT IGT GTH-GIRT TG T TG F1T FM6T |

General Instructions :

(1) There are a total of 27 questions and four sections in the question paper.
All questions are compulsory.

(11)  Section '‘A_contains questions number 1 to 5, very short-answer type
questions.of1 mark each.

(111) Section B contains questions number 6 to 12, short-answer type I
questions of 2 marks each.

(iv) Section C contains questions number 13 to 24, short-answer type Il
questions of 3 marks each.

(v)  Section D contains questions number 25 to 27, long-answer type questions
of 5 marks each.

(vi) There i1s no overall choice in the question paper, however, an internal
choice is provided in two questions of 1 mark, two questions of 2 marks,

four questions of 3 marks and all the three questions of 5 marks. In these
questions, an examinee 1s to attempt any one of the two given alternatives.

(vit) Wherever necessary, the diagram drawn should be neat and properly

labelled.
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SECTION A
1. TSA 1 Tdd AU I 9 TARgu | 1

State Mendel’'s Law of Independent Assortment.

2.  CISHISS o UTThIeh ohl ATH TIRgU | 3 UI&TuT ol 91t faigu fSaeh grn 59
TAT ! gfse <l e 2 | 1

Name the pathogen which causes Typhoid. Name the test that confirms

the disease.

3. T fawuHehdr 21 82 SHH Ush SeEWN ST | 1

What 1s male heterogamety ? Give one example.

4. OYAREl § YgYY e foehidd Bid & ? JishAT &1 919 TR | 1
arerat
$iH FhT & T ==d F© qoal | foaged bl Araedehdl T8 gldl Ui 3h!
ST S 8 | 39! Teh SR GIWIT | 1

How do drones develop in honey bees ? Name the process.

OR

Some flowers, selected for artificial hybridization, do not require

emasculation but bagging i1s essential for them. Give a reason.
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5. 6 WisHISIY gRI HHd FHeied gHd B¢k 4 WUk 8l @, df JFd I |

foh® TR <hl STfshAT BIT 8 2 1
HAJT
ZIHUA 1 YiHehT faalgu | 1
How does the human body respond when haemozoin produced by
Plasmodium 1s released 1n 1ts blood ?
OR
Write the role of interferons.
Qus o
SECTION B

6. UH hIg Gl dlieh [AIRIT ek gRT JATIdsIoAl H SIS SISl bl faehidd
TeRar ST &ehal € | 2
Write any two “ways by which apomictic seeds may be developed in
anglosperms.

7. UMk AHhRIY 3T o &Y H Y AT 99T fgadiash dHihy 3 & ®9 H
THTRT TN o by foilgu | 2

HAAT
ST (o) &1 8 ? 3Heh g0 o1 bR ohl JTaReT 3cqd (UNd) Bidl 8, 39l
3PE HIT | 2
Write the functions of bone marrow as the primary lymphoid organ and
lymph nodes as the secondary lymphoid organs.
OR

What 1s a vaccine ? State the type of immunity that it induces.
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8. & gRiGTEE ¥ Ol Weh QMY S o1 910 qAT 36k @189 YIS ol
feTlgu | 2
AT
1. grisigg gr AiHa Siafay §4icrg @l &1 T8l JRal g ? 9

Name one toxin gene 1solated from B. thuringiensis and its target pest.

OR

Why does the toxin produced by B. thuringiensis not kill the Bacillus ?

9. WU % oy waiferes 3w it S arelt AyHeE w1 amifie T ffaw |
HHATEH ol TATUA i o6 AW ferfley | 2

Write the scientific name of the most commonly used species of honey bee
for apiculture. State the benefits of establishing apiculture.

10. S ok 3cdled o U MR NG TIF o doh H SIAI-3TIEST o G190 e hl
el il 1 THATIT STdT 8 2 9

Why 1s a slurry of cattle dung (gobar) added to bio-wastes in the tank of a
gobar gas plant for generation of biogas ?

11. (a) TohEl JFCARIES & 3T Toceh hl A fIRGU Sl AiTI(FeaIeIzs ohi
5" — 8 {AUIdl % oIt IRl 2 |
(b) fFAACTES H TATSHIMTSH S99 hal sl § ? 2

(a) Name the component of a nucleotide responsible for giving 5 — 3’
polarity to a polynucleotide.

(b)  Where in a nucleotide 1s the glycosidic bond present ?

12. 39 fagra & sIret HilNT St Sl d9gd SU-Haed debish gl S1.04.T. Qug

h G H GEES & | 2
Explain the principle that helps in separation of DNA fragments in Gel
electrophoresis.

571172 5 P.T.O.
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SECTION C

13.  3ehsiHl STTd SgYHTedl ¥ fhe JhR 99 8 ? Tcdsh sl Uh-Ush 3800
ST | 3

AT

Teh SISO GHIRT hl HEIdT 8 gTei-a-et] g shl sIredT shifu | 3

How 1s polygenic i1nheritance different from pleiotropy ? Give one

example of each.

OR

Explain the Hardy-Weinberg principle with the help of an algebraic

equation.

14. U ATIdsiisi] b GRUFS T JHhIG9G 1 AHIhd JNE HIEY | 3

AT

Teh |6 o YUT e AU (SAFIaq) I bl o SHIRL 3Heh Tohrail ©: HFIN ol
ATHTIeRd ShITSTT | 3

Draw a labelled diagram of a mature male gametophyte of an

anglosperm.
OR

Draw a diagram of L.S. of an embryo of grass and label any six parts.

15. HifcIs 39aTed TS 8 TEATIh &9 ATl @ ? AT shifNu | 3

How does the original drifted population become founders ? Explain.
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16. <% YT B I S i fHerT i ST iU | ol JaTeie o HIaHd
! FUMcHeh THH- =1 gl ATl & ?

Explain the role of regulatory gene in a lac operon. Why 1s regulation of

lac operon called as negative regulation ?

17. Tordt Tafse o GWR-dd gig Ued <l sarean hifsre | g4t Sl 1 gufsd gig *
Ued 3fqd: SRl &l STTA i hid & ?

Explain the logistic growth pattern of a population. Why do population
growth patterns of all organisms ultimately follow it ?

18. (a) YShdR¥l SATHHU AT STARHT STHAU H YA hl ol H~AYeh TSIl
fIRaq | 39 g1 3TERATT | fohd JehR o1 = UG o1 @ 2

(b)  WTYUHeh IFIHAU hi 37U Tgdl¥eh IgHUT AfUsh did =1 Bl & ?
ST <hiTolU |

(a) +~ Write the pioneer species each of xerarch and hydrarch
successions. Which type of climax community 1s attained by both
these sueccessions ?

(b)  Why 1s secondary succession faster than the primary succession ?
Explain.

19. Yehid H ShieA <sh YL HIST o hIAKAAl o UM hl SATEAT ShilWC AT $Hh
BT-ehTeh JHTET hl Felt SHIET |

HAAT

A Qe @AT § SHe-3TEH & hRUT T JHTE hl SIS hINT |

Explain the impact of human activities on carbon cycle in nature and list
1ts harmiful effects.

OR

Explain the cause and effect of biomagnification in an aquatic food chain.

FRA CHENY | Thaa rg FHIC 1L DS CF ey PREDECETY | Thaen e EECHLCHETT
u o
* =
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22.

HEGL CHw CT by PRECS Y | T e R HET {00 m g R LD
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Teh THddl Afgar o fafeme werur &3 o 3ud f=fchedes 4 38 wH. A
H ! TR &, FAifeh IHhT MY YU 219 R (shiHram) 6 B &
faerr & T o | 3

(a) 219 TUTEH hl AT T RO g |

(b) ferdt afgen s wdar H srafy gof 9 o W vgd & ‘T Ad FE
bl FATE A1 &1 g ? TN HITT |

A doctor after conducting certain tests on a pregnant woman advised her

to undergo M.T.P., as the foetus she was carrying showed trisomy of

215' chromosome.
(a)  State the cause of trisomy of the 215! chromosome.

(b) Why was the pregnant woman advised to undergo M.T.P. and not

to complete the full term of her pregnancy ? Explain.

fafiye Sfial shl aiiicesh T&AT el TIVET i ohl YT UTHRE(dehidg THIE
gqcd bl ATIH Hid 8 | G I9cd Td i o (AU I I 39T A 9T
fopegl i alishi (Ieai) <l ATEAT Ycdsh o Ush-Ush 34180 hl HEMEdl &
$ITT | 3

Explain with the help of an example each any three ways the ecologists
use to measure population density of different organisms rather than by
calculating their absolute number.

(a) Hattereh I9AN fhU I aTel STATNTF Rl AW fARIU | 39 ST
T AT RAT hid @ ?

(b)  dTSd AT IUIE ITd i o (AU JRNNUF H UN=TH fopd Thr Tohpam
ST 8 2 3

HAAT

d1.H1.3TR. qeheiieh 1 ITANT HId §Y AWHRI dTiwd S & JaU9 TshH <l
ST hITVY | 3
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(a) Name the most commonly used bioreactor. Why are these
bioreactors used ?

(b) How 1s the operation 1n a bioreactor carried out so as to achieve the
desired end product ?

OR
Explain the process of amplification of genes of interest using PCR
technique.
23. pBR322 AN HaTgsh U ARG TIA! i Yl TTRAT : 3
(a) rop
(b)  or1
(¢) IOHIRY g
Write the role of the following sites in pBR322 cloning vector :
(a) rop
(b) or1
(c) selectable marker
24, HASM U] AT T YR o [T IGANT hl ST dTet hRAId hl ST
1T | 3
Explain the strategy used for herd improvement in cattle.
HUs g
SECTION D
25. (a) Uk gHfd & h YO0 o IU0d fafehegehl 3 samn fob 32 g9 areft
gdfd okl SR I feheal I GHTAT O a7 : JAT A, B, AB 372@1 O H
H iz W1 Bl Fehdl B | bl (THUTd) & SIHYEY TIRIT a1 36 TS
! Tef¥id S % foIT shig sATST |
(b) 39U Shid b HgH H JUTfAT qAT T8-THTfeaT hi ST HIfT | 5
HAJAT
57/1/2. 9 P.T.O.

@
Qcollegedunla;
India’s largest Student Review Platform

—



&
(a) 394 TAMT H BY UG 99 9 9°S a1 5P & IYIAM &1 hdT ? SATEAT
1T |
(b) 3%k YANT § HHAUT AT 3T9ehgVl ol Hawd fIRaT |
(¢) 3% YINT o U & oh &1 39 kY hl faARgU | 5

(a) A doctor conveyed to a couple atter preforming a blood test on them
that there 1s a possibility of their child being born with any one of
the four blood groups 1.e. A, B, AB or O. Write the genotypes of the
parents and work out the cross to show how 1t 1s possible.

(b)  Explain dominance and co-dominance with respect to the above

CroSS.
OR
(a) Why did Hershey and Chase use 398 and °“P in their experiment ?
Explain.

(b)  State the i1mportance of blending and centrifugation in their
experiment.

(¢c) Write the conclusion they arrived at after completing their
experiment.

26. TqIYd SIcl *h LA h SHH BB Th GHE 4 Teh W H o< ¥ gkt o
el A6l H.qU7-3E H gL Wl s 919 ¥ g TARE H Sl hl Jog &L
U&IuT fohd1 4 I8 98 i @ fob W@ % AT dfed-Ael sl €19 & a1 § YaEd
L @ & a1 Wdl I I JdTed gl SR (qrae) T S @1 & | S0
$ifore fop g itfefaat mofert it gog =1 SR & 8 Fehdt 8 | 5

COC)
(a) TEX Si9 GG o AYALAU sl 89 L fIiay |

(b) Sldg TeaBA o JALAT o GRUMHT g Tohell Sa gqe hl fEoraT =1
Y 39kl ST YIg b 1Y TohE YhR TATIUC B Hehl ? 5

While studying pollution of water, a group of students observed mortality
of fishes 1n the river flowing through the city and also in the pond which
was away from the city but was adjacent to the crop fields. They further
found that drains of the city discharged sewage into the river and the
water from farms flowed into the pond. Explain how these could be the

cause of fish mortality.
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(a) Identify the features of a stable biological community.

(b) How did David Tilman’s findings link stability of a biological
community to its species richness ?

27.  ITHHeh-gihdl (TehlACH) H SLUA.U. Ufdehfddd qAT 3Ter@H o TshAI hi
qeHT hifT | 5

AT
(a) TUT%Y & w9l g <hl et il |

(b) SUdh TN U “TAT Sl Tk YR o QY] sl AR <l 8, 98 AR
qqry o AU (TOTT) sl T5¢ T& Bt | e o1 facy fffge | 3+2

Compare the processes of DNA replication and transcription in

prokaryotes.

OR

(a) = Explamn Griffith’s ‘transforming principle’ experiment.

(b) In the above experiment, “heat which killed one type of bacteria,

did not-destroy the properties of genetic material.” Justity.

57/1/2] 1
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